MAT 223, Quiz #12, Fall 2

Instructions: Show all w
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ork. If you use your calculator, give calculator commands used. Use exact
answers, or round appropriately. Answer all parts of each question.

ribution differ from a normal distribution? lee at least 3 ways.
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2. When should we use the t-distribution for calculating confldence intervals instead of the normal

distribution?
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Suppose we sampled 14 people and found a mean wei
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b. What is the E!O% confidence interval?
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4. Find the 95% con

|Pmp2 n

0 -loved T

:

e

What is the 95% confidence interval for this situation?
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% confidence interval?

idence interval for a sample of 1000 with a s?mple proportion of 36%.
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5. Why do hypothesjs testing?
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